
 

 

OC Placement Test SAMPLE Thinking Skills 

 

 

 

1. Although the education system has progressed from the point of view of the 

number of schools, most of them are ill-equipped and have not achieved 

excellence in imparting education. 

 

    
Dean: In future, we should provide good teachers and equipment to these schools. 
Alicia: We need not open any more schools in the future 
If the statement is true, whose reasoning is correct? 
 

a. Neither of them 

b. Dean only 

c. Alicia only 

d. Both Alicia and Dean 

 

 

 

2. Shane has planned to visit Gold Coast for a vacation but wants to reach there via 

Brisbane. He can travel to Brisbane from his initial location in Sydney by train or an 

aeroplane. He can then travel from Brisbane to Gold Coast either by bus, train, car or 

aeroplane. In how many ways can Shane travel from Sydney to Gold Coast? 

 

a. 2 

b. 1  

c. 8 

d. 2 

 

 

3. Nutritious food is delicious and good for health. Cabbages are nutritious 

     
 

Sarah: Delicious foods are nutritious. 
Joe: Cabbages are good for health. 
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If the above statement is true, whose conclusion is correct? 
a. Sarah only 

b. Joe only 

c. Neither of them 

d. Both of them 

 

 

4. Statements: 

 

Some cars are bikes. 

All bikes are trains. 

No car is a road. 

 

Conclusions: 

I. All roads can be trains. 

II. Some cars are trains. 

 
Which of the conclusions follow the above statement? 

 

a. Only II 

b. None of them 

c. Only I 

d. Both I and II 

 

 

5. A dice is shown in two of its positions. 

 

 
 

How many points appear on the face opposite to 5 

 

a. 1 

b. 3 

c. 4 

d. 6 
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